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Grade 5 - Week 14 - Weekly Assessment (1) 

1- Use the standard algorithm to find 𝟕𝟎 ÷ 𝟎. 𝟕 =. . .. 

2- Use the standard algorithm to find 𝟒𝟒 ÷ 𝟎. 𝟓 =. .. 

3- Find the value of the numerical expression 𝟔𝟒 ÷ 𝟎. 𝟑𝟐 +

𝟎. 𝟏 × 𝟑. 𝟐 

4- Find the value of the numerical expression: 

 𝟑𝟓 × 𝟎. 𝟏 + 𝟖𝟗. 𝟏𝟒 ÷ 𝟎. 𝟏 

5- Imad has 4.5 meters of wire and wants to divide it into 30 equal 

pieces. Find the length of each piece of wire. 

Grade 5 - Week 14 - Weekly Assessment (2) 

1- Use the standard algorithm to find 𝟗𝟎 ÷ 𝟎. 𝟎𝟑 =. .. 

2- Use the standard algorithm to find 𝟓𝟏 ÷ 𝟎. 𝟎𝟒 = 

3- Find the value of the numerical expression: 𝟓𝟔. 𝟓 × 𝟐. 𝟑 − 𝟏𝟓 + 𝟏𝟐. 𝟕 = 

4- Find the value of the numerical expression: (𝟓. 𝟐 + 𝟕. 𝟑 − 𝟕. 𝟔) × 𝟏𝟎 ÷

𝟎. 𝟕 =. .. 

5- Omar and Mohammed solved the problem: 𝟑. 𝟔 ÷ (𝟎. 𝟕 + 𝟎. 𝟐) 

  Omar says the answer is 4, while Mohammed says the answer is 2. 

Whose answer is correct and why? 
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Grade 5 - Week 14 - Weekly Assessment (3) 

1- Use the standard algorithm to find 𝟎. 𝟗𝟏 ÷ 𝟎. 𝟓 =. . .. 

2- Use the standard algorithm to find 𝟓𝟕. 𝟔 ÷ 𝟎. 𝟎𝟒 =. .. 

3- Find the value of the numerical expression: 𝟐𝟓 ÷ 𝟓 × 𝟎. 𝟏 + 𝟏𝟐. 𝟓 =. . .. 

 

4- Kamal added parentheses to the numerical expression. When he found its 

value, he calculated it as 6.45. What parentheses did he use, and where did 

he place them?  𝟏𝟓. 𝟐𝟓 ÷ 𝟐 + 𝟑 + 𝟔. 𝟖 ÷ 𝟐 

5- Afnan bought a set of pens of the same type for 49.5 pounds. The price of 

each pen is 1.5 pounds. How many pens did Afnan buy?




